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Multiplikation - vertikal Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 2 3 4
5.261 ) 1.659 ) 6.869 ) 7.323 . 21044
. 4 ° 5 ° 5 ° 9
21.044 8.295 34.345 65.907 ” 8.295
s 34.345
. 65.907
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° 7 ° 7 ° 2 ° 3
13.482 13.944 6.872 10.473 e 13.944
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s 10473
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) 3.821 ) 4.982 ) 7.775 ) 7.916 o 30.568
. 8 . 2 . 7 . 3
30.568 9.964 54.425 23.748 0. 9.964
11 54.425
o 23.748
13 14 15 16
) 5616 ) 6.543 ) 9.862 ) 1.945 w 11.232
. 2 . 8 . 3 . 3
11.232 52.344 29.586 5.835 u 52.344
5 29.586
16. 5.835
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) 4.473 ) 4.984 ) 9.895 )  5.825 . 31311
[ ] 7 [ ] 4 [ ] 6 [ ] 4
31.311 19.936 59.370 23.300 s 19.936
9. 59.370
o0 23.300
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